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T/F explain.  Answer 12 of the 15 questions.  (Only 13 answers will be graded.)  

1. It is not profitable for Denny’s to sell me a senior breakfast for $2.99 when another patron at Denny’s would pay $3.99 for that same breakfast.

False.  To increase the sales of breakfasts to non-seniors, Denny’s would have to lower its regular price.  Therefore, their marginal revenue from the sale is less than the price.  It would be profitable to sell to me at a lower price than what others might pay as long as the marginal revenue from a sale to me exceeds the marginal revenue from an additional sales at lower prices to younger customers.

2. My amplified voice disturbed Johnny’s sleep in the back row of class last Thursday.  This is an example of an economic externality.
False.  An externality occurs when someone is impacted who is not part of a consumption or production decision.  Johnny made the decision to come to class.  He is therefore a participant in the “production” decision.  Johnny of course does faces costs of his decision.  Other students face the cost of paying attention and taking notes.  Johnny costs include being awaken.  
3. The minimum wage should be increased because every worker should be paid a fair wage.
False.  First of all the increase in the minimum wage will result in a decrease in employment .  Certainly those workers that now receive zero wages do not get a “fair” wage.  Secondly, there is no economic basis for judging a “fair” versus an unfair wage. 
4. A seller may be able to increase its profit by selling apples in three separate pre-bagged sizes rather than selling on a per pound basis.
True.  Buying by the pound allows consumers to get consumer surplus on all apples purchased except the last or marginal apple.  By pre-bagging the apples in three sizes, the seller can come close to charging prices that extract the surplus.  The cost per pound of the bags will fall for the larger bags reflecting diminishing marginal value.
5. A substantial switch in the federal budget to increase spending on environmental cleanup and reduce spending on defense is expected to lead to an increase in unemployment.

True.  Ultimately this change will require resources that were used in the defense industry to be switched over to environmental cleanup.  As those laborers that leave the defense industry assess their options and attempt to learn about the next best employment opportunity (since working in the defense department is not longer where they have a comparative advantage), they will be unemployed.

6. Collusion is more likely to be successful when sellers can easily learn what their competitors charge.

True.  The collusive price is most profitable if competitors match prices.  If a single seller can undercut the collusive price without being detected, profits greater than the collusive profits will result.  However, those sellers still charging the higher collusive price will be losing business to the price cutter and find it in their self interest to cut prices in reaction.  Thus the collusion will unravel.  However, if prices are transparent, each participant in the collusion will realize that there is little or nothing to be gained by undercutting the collusive price since such price cutting will be revealed to competitors and quickly reacted to.  Hence if sellers can easily learn what their competitors charge, the collusion will likely be more successful. 

7. It is not consistent with the Law of Demand for an increase in the wage rate to reduce the supply of labor.

False.  The law of demand holds constant the consumer’s income.  An increase in the wage rate causes the relative price of leisure to increase leading the consumer to substitute out of leisure into other market goods by working more hours.  This is the prediction of the Law of Demand.  However, an increase in the wage rate also causes the consumer’s income to increase 9a change in a parameter of the demand).  Since leisure is a normal good this causes an increase in the demand for leisure and a reduction in work hours.  These effects are in opposite direction such that an increase in the wage rate can cause a reduction in the supply of labor even though the law of demand is operative.

8. Since labor is the ultimate source of output, profits to the capitalist entrepreneurs represent exploitation of labor.

False.  The use of complex production requires decisions to be made about the production of capital equipment, the organization of production, and the characteristics of the output.  The “capitalist” entrepreneurs are the sources of the capital necessary to accomplish complex production.  No one will forego current consumption to accumulate capital unless offered a reward.  No one will use scarce time to organize production unless offered a reward.  The profits earned are the reward.  Workers are always free to themselves be entrepreneurs or work only using simple production if the payments to workers in complex production organizations are exploitive. 

9. If may be efficient for employers to require a college degree even if the degree does not impact the worker’s marginal product.

True.  The determination of workers’ marginal products is difficult and costly.  If success in other activities such as college education is correlated with expected marginal product, then requiring potential employees to demonstrate that they have successfully hurdled the correlated activity can be efficient.

10. A positive unemployment rate is both expected and desirable.

True.  As long as society’s demands change because of taste change (demand DVDs instead of VCRs), demographic change (an aging population demands more nursing home care and less personal training), or innovation (demand computers instead of calculators), resources will need to be redeployed out of one sector of the economy into another.  Unemployment is the manifestation of resources searching out their best alternatives.  Society could eliminate unemployment by eliminating the right for employers to layoff workers or for employees to quit their jobs and seek a better job.  But we then would still have workers making buggy whips and rotary dial phones.  This would not be efficient.  The benefits from flexibility in employment exceed the costs of unemployment.  (In response,  we set up social support mechanisms such as unemployment insurance to “share” some of the risk that we will be the one whose comparative advantage becomes obsolete.)   

11. If bargaining were costless, the existence of externalities would not impede the efficiency of market based production and consumption decisions.

True.  Anyone benefited or harmed by decisions of another would simply bargain to influence that decision.  The external costs and benefits would then be taken account of and included in the benefits and costs of the decision maker.  All actions with total benefits exceeding total costs, including those that were external, prior to bargaining, would be taken. 
12. The value of a statistical life should be the same as the value a certain life since in either case a human life is taken.

False.  The value of a statistical life refers to the sum of the costs of a small probability of death.  Since the marginal costs of risking death increases with increasing risk (increasing the risk from 0 to 1/1000th imposes less cost than increasing it from 100/1000ths to 101/1000ths), N times the costs of a small 1/N risk is less than the cost imposed from of a change in risk from 0 to 1 (which is certain death). 

13. Workers with facial tattoos earn only about half of what workers without facial tattoos earn.  This indicates discrimination against people with facial tattoos.

True, False or Uncertain.  There are a number of factors that can explain why workers with facial tattoos might earn lower average wages than other workers – these workers are likely younger and therefore less experienced; these workers are likely less educated; these workers may be more likely to take drugs – all of these explanations imply that the marginal products of such workers are on average lower than for other workers.  However, these explanations are a form of “proxy” discrimination in which employers use an observable characteristic to imply the value of unobservable characteristics.

14. If sellers can agree to match each others’ prices, their demand curves will be more elastic.

False.  The demand curves will be more inelastic.  If a single seller raises price, then that seller will lose sales to competitors with lower prices.  However, if sellers all raise price together then consumers will have no reason to switch sellers.  This implies that there will be a smaller percentage reduction in quantity from a price change if the sellers match each others’ prices.    

15. The characteristics of jobs of that are economically of “comparable worth” are expected to change as the composition of the labor force and the demand for various goods change.  This demonstrates that there is no intrinsic comparable worth of job characteristics.   

True – economically comparable worth means equal equilibrium pay and equal value of the marginal product.  If the supply of workers who prefer, say, working outside in the dreary PNW increases because the labor force gets younger, then the compensation received in equilibrium for this job characteristic will decline compared to indoor jobs.  As a result, a given outdoor job will now be of comparable worth to a lower paying indoor job.  The intrinsic job characteristics have not changed but the worth of those characteristics have.  

